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Short answer questions/problems

Use the following information for questions 1 and 2.  

Hallofburton Inc. is planning to repurchase 300,000 of its 6 million shares at a price of $35 per share (a significant premium over its current price of $23 per share).

1.  Calculate Hallofburton’s price per share after the repurchase (assuming nothing else changes).
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[22.36842 out to 5 decimals]

2.  Assume that Hallofburton plans to repurchase the shares using transferable put rights.  How many puts must be exercised to sell back one share of stock and how much is each put worth?
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[0.63158 if no rounding except final answer to 5 decimals]

3.  How do taxes differ for regular and liquidating dividends?
Regular dividends are taxed as ordinary income (or 15% under current tax code) while liquidating dividends are not taxed.

4.  Assume perfect markets, homogeneous expectations, that investment is optimally fixed, and that any surplus cash has been paid out to stockholders.  Briefly discuss how a stockholder who does not want to receive any additional cash from the firm is actually indifferent to whether the firm pays an additional cash dividend?
Can use cash received to purchase shares so that return to original position.

5.  List, but do not discuss, three advantages of repurchasing shares with transferable put rights rather than with a tender offer.
1)  no wealth redistribution, 2) no oversubscription problem, 3) tax gain relative to tender offer.

6.  Scientific Fishing Inc. is considering two projects that require an investment of $100,000.  The first project generates net cash flows of $30,000 per year for 5 years.  What is a sequence of cash flows for the second project that might cause the firm to have a faster payback but a lower net present value?  State the problem with payback period that your example demonstrates.
Example:  100,000 in year 1 then no more additional cash flows => ignores cash flow after payback

Example:  10,000 in year 2, 90,000 in year 3, 30,000 in years 4 and 5 => ignores timing within payback period.

7.  HEB recently announced plans to tear down its existing store on Hewitt Drive and Highway 84 in order to make room for an even larger HEB at that sight.  Give an example of an opportunity cost that HEB should have included in their analysis of whether to build this new store.  

Example:  lost sales while store is torn down

8.   Continuing the previous problem, give an example of a cash flow that HEB should have excluded in the analysis of whether to build the new store because it is a sunk cost.

Example:  cost of doing feasibility study (if completed)
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9.  Hilltop Hotels Inc. uses the average beta of the securities it has issued as a proxy for the beta of any new hotels it builds.  What kind of hotel is Hilltop likely to overinvest in using this procedure?
High risk

10.  What makes it difficult to estimate the beta of a project by using the historical returns on similar assets?
1)  must be actively traded, 2) small sample problems, 3) risk may have changed.

Problems/Essays

1.  On your first day on the job at Grand Predico Inc., the CFO calls you and states that the firm has just received an unsolicited offer for one of the firm’s divisions.  The CFO wants to see if she can assign you to the task of determining whether or not the offer should be accepted.  She therefore asks you the following questions:

1)  What information would you need if you could have any information you wanted?

2)  Which of this information might be difficult if not impossible to get and how would you deal with this lack of information?

3)  How would you use this information to make a recommendation regarding whether or not to accept the offer?

How do you respond to the CFO?

1)  You need:  expected cash flows for the division, a required return for the division, and the amount offered for the division.

2)  Expected cash flows:  the best way would be to get current and recent cash flows and also to talk to managers of the division about expectations.

Required return:  General approach:  use the capital asset pricing model.  To estimate the beta of the division, find firms in the same industry as the division and calculate the average beta for the securities issued by these firms.  Note that bond betas may be difficult to find.  For the market risk premium, use the historical average if no better information.  For the risk-free rate, use a current short-term T-bill rate.

3)  Calculate the present value of the cash flows and accept the offer if the offer exceeds the number you calculated.
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2.  What changes within a firm might increase the optimal amount of debt in its capital structure AND increase the optimal amount of dividends it pays?  Justify your answer.

Key => firm’s current and expected future profit and cash flow becomes higher and more stable.

Reason this increases optimal amount of debt:

=> greater chance of using debt tax shield

=> reduces chance of bankruptcy

=> expected bankruptcy costs decline

=> more confidence in firm so that less chance of loss of  key employees, loss of sales, and loss of supplier credit.

=> less chance that management will be diverted from maximizing firm value of spend a lot of time avoiding bankruptcy.

=> debt becomes cheaper to issue because of fewer and less restrictive covenants, less demand for monitoring, less demand that debt be convertible, and lower interest rates.

=> the increased cash flow creates stockholder-bondholder conflict and the debt helps resolve this conflict by 1)  taking excess cash out of management’s hands so won’t waste it, and 2) keeps management’s feet to the fire.

Reason this increases optimal dividend:

=> likely that at least some of the additional cash goes toward dividends rather than alternatives such as repurchasing shares, additional investment in negative NPV projects, acquisition of other firms, and purchasing marketable securities.  This is especially true since management will be more likely to increase dividends today since they will be confident they can maintain it.

=> the extra cash reduces the chance that the firm will have to issue securities in the future.  This reduced chance means that there is less chance of the monitoring of management that occurs when new securities are issued.  Paying the dividend restores this potential monitoring.
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3.  Razorfish Inc. has assets in place that are expected to generate net cash flows over the next 10 years with a present value of $35,000,000.  The book value of these assets is $10,000,000.   The standard deviation of returns on these existing assets is expected to equal 45% and the beta of these assets is estimated to be 1.1.  Razorfish is considering investing in a new facility in Dallas at a cost of $2,100,000 that is expected to generate net cash flows over the next 10 years with a present value of $2,700,000.  The standard deviation of returns on this new facility is expected to be 40% and the beta of the new facility is expected to be 0.8.   If the project fails to generate as much cash flow as expected, Razorfish estimates that it can sell its new facility any time over the next 3 years for $1,100,000.  Once the project is undertaken, the overall standard deviation of returns on the firm’s assets is expected to equal 44%.  Razorfish plans to fund the new project by using $500,000 of cash, by issuing bonds that mature for $2,000,000, and by issuing common stock if necessary.  These new bonds would have the same 7-year maturity as Razorfish’s existing bonds which mature for $40,000,000.  Neither bond would pay any coupons prior to maturity.  The return on Treasury securities (all APRs assuming continuous compounding) varies according to maturity as follows:  1-year = 0.99%, 2-year = 1.29%, 3-year = 1.66%, 4-year = 2.10%, 5-year = 2.50%, 6-year = 2.87%, 7-year = 3.23%, 8-year = 3.45%, 9-year = 3.69%, and 10-year = 3.89%.  

How will the undertaking of this project affect the value of Razorfish’s assets?
2 = (.4)2 = .16
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NPV = 2,700,000 – 2,100,000 + 43,222.98 = 643,222.98

4.   Alderwood Inc. is currently experiencing losses and a net outflow of operating cash flows.  As a result, it needs to raise some additional funds for operations.  Because it has no immediate cash flows from operations, it plans to issue securities which make no payments until 2 years and 4 months from today.   The initial payment on each security would equal $150.  Subsequent payments would occur quarterly and would grow by 1.5% each over the security’s life.  The final payment would occur 5 years and 10 months from today.  Alderwood’s investment banker estimates that the beta of this security is 1.3.  The current rate of return on T-bills is 0.83% and the market risk premium is 7.1%.  What is your estimate of how much Alderwood will be able to receive for issuing this security?  (Note, there is no par value, just quarterly payments).
r = .0083 + (0.071)(1.3) = .1006
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